
 

Addendum US 200828  Page 1 of 1 

ADDENDUM 
 

 

Project: Hillcrest 1, 2 Roof 
 

Project No.: 510649520030101 Addendum No.: 3 

Project Address: 875 N 1500 E, Logan, UT 84321 
 

Date: 6 May 2022 

 
Owner:  The Church of Jesus Christ of Latter-day Saints, a Utah corporation sole  
 

From (Architect): McNeil Engineering 
  

 

Instructions to Prospective Bidders: 
 
This Addendum forms a part of the Contract Documents and modifies the original Bidding Documents and/or prior Addenda as noted below. 
All conditions, requirements, materials and workmanship are to be as described in the Contract Documents unless specifically stated 
otherwise.  This Addendum consists of 1 page(s) and the attached drawing(s), Sheet(s) S5.01, dated 05-05-2022 
 

  
 
1. Changes to prior Addenda: 
 

a. none 
 

b.       
 
 
2. Changes to Bidding Requirements: 
 

a. none 
 

b.       
 

 
3. Changes to Conditions of the Contract: 
 

a. none 
 

b.       
 

 
4. Changes to Specifications: 
 

a. none 
 
b.       

 
 
5. Changes to Drawings: 
 

a. After further review, the engineer has determined that there is no need to remove the metal siding on the uppermost portion of the 
steeple (the upsidedown ice cream cone portion). Contractor is to preserve and protect this portion of the steeple while removing 
and installing required elements on the bottom portion. See attached sheet with revised details. 

 
b. Note 3 on sheet S1.00 requires that the sistered 2x members extend from the ridge down to the eave on the top chord of the trusses 

and for the rafters. 
 

 
 

 

End of Addendum 

 



1-A
S5.01

STEEPLE SECTION
3/8"=1'-0"

2-A
S5.01

STEEPLE SECTION
3/8"=1'-0"

3-A
S5.01

STEEPLE SECTION
3/8"=1'-0"

EXISTING TIMBER COLLAR TIE

EXISTING BEAM

NEW 1/2" CDX OVERLAY

10d AT 6" O.C. EDGE
NAILING (TYP. AT

FRAMING MEMBERS)

NEW 1/2" CDX OVERLAY

NEW 1/2" CDX OVERLAY

10d AT 6" O.C. EDGE
NAILING W/ BLOCKING
(TYP. AT PANEL EDGES)

EXISTING FRAMING

EXISTING STEEL FRAME

EXISTING TIE-RODS - ENSURE TIE RODS ARE TAUT

EXISTING STEEL
FRAMING

NEW L6X4X 5
16 (LONG-LEG VERTICAL) -MOUNT

TO UNDERSIDE OF EXISTING L6X4 ANGLE.
PROVIDE/WELD STEEL SHIM BETWEEN NEW
ANGLE AND EXISTING AT 12" O.C.

EXISTING L6X4 ANGLE

EXISTING TIMBER CEILNG EXISTING TIMBER CEILNG

EXISTING STEEL FRAMING

NEW L6X4X 5
16 (LONG-LEG VERTICAL) -MOUNT

TO UNDERSIDE OF EXISTING L6X4 ANGLE.
PROVIDE/WELD STEEL SHIM BETWEEN NEW
ANGLE AND EXISTING AT 12" O.C.

NEW L6X4X 5
16 (LONG-LEG VERTICAL) -MOUNT

TO UNDERSIDE OF EXISTING L6X4 ANGLE.
PROVIDE/WELD STEEL SHIM BETWEEN NEW
ANGLE AND EXISTING AT 12" O.C.

REPLACE EXISTING BOLT WITH NEW 5/8" DIA.
BOLT THROUGH EXISTING AND NEW ANGLE

EXISTING STEEL FRAMING

CONT. L3X3X3
8 W/ 14" X 4-1/2"

SDS WOOD SCREWS AT 12"
O.C. INTO EXISTING BEAM

3
16" FILLET WELD TO NEW L3X3 ANGLE TO
EXISTING L6X6 PERIMETER ANGLE, TYP.

REPLACE EXISTING BOLT WITH NEW 5/8" DIA.
(MIN) BOLT THROUGH NEW ANGLE AND
EXISTING L6X4 AND L6X6 PERIMETER ANGLE

EXISTING L6X6 PERIMETER ANGLE

EXISTING L6X6
PERIMETER ANGLE

EXISTING FRAMING

EXISTING STEEL FRAME

EXISTING TIE-RODS - ENSURE TIE RODS ARE TAUT

EXISTING STEEL COLUMN
NEW 3X3X3

8X5" LONG BEARING ANGLE TO
EXISTING COLUMN AND EXISTING BEAM ( 3

16"
WELDS TO EXISTING BEAM AND COLUMN TO
NEW ANGLE)

FIELD VERIFY ALL
DIMENSIONS/CONDITIONS

NEW 1/2" CDX OVERLAY10d AT 6" O.C. EDGE
NAILING (TYP. AT
FRAMING MEMBERS)

10d AT 6" O.C. EDGE
NAILING (TYP. AT
FRAMING MEMBERS)

10d AT 6" O.C. EDGE NAILING
(TYP. AT FRAMING MEMBERS)

#10 SELF TAPPING SCREWS AT 6"
O.C. (OSB TO STEEL ANGLE)

#10 SELF TAPPING SCREWS AT 6"
O.C. (OSB TO STEEL ANGLE)

10d AT 6" O.C. EDGE
NAILING (TYP. AT
FRAMING MEMBERS)

PROJECT NO:

DRAWN BY:

CHECKED BY:

DATE:

RE
VI

SI
O

N
S

RE
V

DA
TE

DE
SC

RI
PT

IO
N

S5.01

SHEET:                   OF

19294

CRP
ARN

HI
LL

CR
ES

T 
1,

 2
 R

E-
RO

O
F

LO
G

AN
 U

AT
H 

EA
ST

 S
TA

KE
87

5 
N

O
RT

H 
15

00
 E

AS
T,

 L
O

G
AN

, U
T

03 04
05/05/22

STRUCTURAL
DETAILS

1
05

-0
4-

22
ST

EE
PL

E 
AN

AL
YS

IS

05/05/2022


